Tyman

Ilepenooicenue onsa 6aana necuu 8 ucnonnenuu epynnot “Cexkmop l'aza”

o)
(FSS==rE e e P e
Harmonium MM g 0 p 6 0 M M 7 5 7
o _ £ £ s ¢ £ 5 £ £ < <
- o i #
AT e d i
N Kynier
1V 4 I N I I I J- s Ip—p—l ,’ o
J — —_— I
ber 1o xopo o OBl 7O TakJer Ko
Harm.
M M M M M M M M M M M M
- $ 2 ¢ ¢ $ s s £ ¢ £ £
7 -
e e S r r
i o)
= e = —rr | 5
(Y ! i |
Harm. 7T B 7 7 g 7 M M M M M M M M
s <2 $ %5 8% 8 % § §
7 y o, . . .
T [ [ = o e i B e i
”h Ipunes
r\_ng\\! — | i — IP;'*.;'*J- —7 JI
dJ — I | P I .
Harm. M M M M 7 g 7 7 g 7 M MM
o B P PR 22 g F R

‘_ﬁ

‘_$
W
\

,
1

[oe}
(@)
[oe}
o]
(@)}
o]

— &
Harm. | ! ;
d

- Yol
)
|
W <
W <
1) XS
WzJ
SR o
)
T{:
W =
W




il

,Fcf .

———

18

-

S

= e

=l

0

= e

= .

= e

=

Harm.

25

=Y Y

= e

= e

= e

= e

= e

= e

C

= e

= e

==

= e

C

==

—

28

= e

= e




